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A-008 |BIFFE K#R ZDfh| 2 | 160 5,800

A-008 |RBIFFE K& Z0f| 1 | 100

A-008 |RBIFF=E K& 2#%R 1| 20

A-010 |EAR~s EEER Z D1t 1 20 120

A-022 |FREE/INFREERR Z Dt 1 15 175

A-023-1 1L 3E) 11 SR Z Dt 1| 40 | 1,370

A-023-1 [{E3E)I1SHR Z D 2 | 20

A-032 |TrimREER Z D1t 1| 20 675

A-039 |FEE#R Z Dt 2 | 20 350

A-039 |FEE#R Z Dt 1 | 40

A-052-2 |3/ L2 5% Z Dt 1 90 110

A-070 |EHFERE1SHR | D 1| 20 105

A-085 |EEERERR Z D1t 1 | 20 | 1,725

A-085 |EEERERR Z D1t 2 | 60

A-085 |&EEE#R 2#%R 4 | 40
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A-085 |EEERERR Z D1t 3 | 20

A-098 |(1iEFHR#R 2#%R 1 | 100 1,660

A-098 |ME-FHERHR 21k 2 | 100

A-098 |ME-FHERHR 21k 3 | 100

A-098 |ME-FHRHR 2% | 4 | 100

A-104 | B BRERHR Z D1t 1| 20 325

A-104 | FrBBRERHR Z D1t 2 | 20

A-112 |EEIE2SR Z Dt 1| 20 525

A-113 |EEZIEISKR Z Dt 1| 20 365

A-125 |ZIRFESSR Z Dt 1 | 40 235

A-131 |iZIRFTE1 156 Z0f| 1 | 100 335

A-138-1 [/ LK F 1 5% ZOf| 1 | 100 800

A-142 | REER ZOf| 1 | 120 850

A-142 | REER Z D1t 1| 20

A-160 |ILIJIIEBE#R Z D1t 1 | 60 550
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A-160 |ILIJIIEBE#R Z0f| 1 | 120
A-160 |ILIJIIEBE#R Z D1t 2 | 20
A-165 |LLJIIARHEERZ AR Z D1t 1 | 40 215
A-230 (ZBY1EH#R Z D 1 15 375
A-255 |TTHEREI SR Z Dt 2 | 20 495
A-255 |TTHEREI SR Z Dt 1| 20
T-011 |EFHR Z D 2 | 80 | 1675
T-011 |EFHR Z Dt 1 | 40
T-051 JEA/\RHE#R Z D 1 | 40 | 1,490
T-051 [Z7A/\RHE#R Z Dt 2 | 60
T-051 [Z7A/\RHE#R Z Dt 3 | 10
T-087 |EHTIL#R Z Dt 1 20 805
T-090 |FFNBAHREFHR Z D1t 1 | 20 | 1,945
T-095 |TFRII#R Z0f| 2 | 120 1,170
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T-095 | TFRII#R ZODh| 1 | 100
T-095 | FRII#R Z D 1 20
T-107 [HR#R 2#%R 1| 20 490
T-130 | TRZBLFAZK Z D1t 1| 20 835
T-132 [ZRTHFER 1% 1 | 20 | 1,085
T-132 [ZRTHRER Z D1t 2 | 20
T-135 3ERTKIR 2R 3 | 20 | 3,190
T-135 3ERTKIHR 2R 2 | 20
T-135 3ERTKIR 2R 1 20
T-139 | LRASEZ THER Z Dt 3 | 20 | 2,865
T-139 | LRASEZ THER Z Dt 6 | 60
T-139 | LRASEZ THER Z Dt 4 | 40
T-139 | LRASEZ THER Z Dt 5 | 40
T-139 | LRASEZ THER Z Dt 7 | 80
T-141-1 |HEZEFEXR 2#%R 1 | 180 610
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T-142 | EH TH 1% 1 | 20 | 1230

T-143 |HERER Z D 1 20 600

T-143 |HERER Z Dt 2 | 40

T-151 | T =& E#H 1% 3 | 20 | 1,300

T-151 |[#MTZEHER 1% 1 | 120

T-151 |[#MTZEHER 1% 1 20

T-151 | T =& E#H 1% 2 | 20 | 1,300

T-158 |[RIEJIHR 1#% 1| 60 520

T-198 |/\fGLATEHR 1#% 1 | 80 | 2960

T-198 |/\{GLATEHR Z D1t 2 | 20

T-199 |EA#R Z0f| 2 | 100 3,355

T-199 |EA#R ZODMh| 1 | 100

T-207 |HHERZRH#R 2#%R 1 | 280 1,060

T-208 |K#Z#R 1#% 3 | 20 | 1610

T-210 |BIRFEER 2#%R 1 | 80 | 5200
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T-210 |BIRFEER 2#%R 2 | 60

T-210 |ERBER Z D1t 3 | 20

T-236 |SER/NERIR 2#%R 1 | 40 345

T-239 |BiZXMiR Z D1t 1 | 80 525

T-260 |/\{5i8/KBEZR Z D1t 1| 20 370

T-288 |HBFDER Z D1t 4 | 20 | 2515

T-288 |HBFZER Z D1t 3 | 20

T-288 |HBFDER Z D1t 2 | 20

T-288 |HBFZER Z D1t 1 | 40

T-289 |#ZTHE#R Z D1t 2 | 40 | 1,350

T-289 |#ZTHE#R ZOf| 1 | 140

T-289 |#ZTHE#R Z D1t 1| 20

T-289 |#ZTHE#R Z D1t 3 | 20

T-289 |#ZTHE#R Z0f| 2 | 100

T-290 |SE4FHBIR Z D1t 2 | 40 | 2,235
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T-290 |EIFHEHLR Z D1tk 1 40

T-312 |#HRERBERRE Z D1t 1 40 710

T-312 |#HERERBERR Z D1t 2 20

T-357 |8h LEE74R 1#% 1 20 | 11,345
71,850




